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Wherever it is written o8 X — DR RY NI 2R 9

Overview

The X7m3 cites a dispute between 7P who maintains that [only] 928> X9
(7P1x 7"1°77) means nX17 MO°R and 728 " who is of the opinion that o8R0 R
and 21 19OXN XY also refer to 7RI 7O°R. Due to the various 23719, the X7
finds it difficult to establish a practical difference between 172X "1 7°pii. Our
mooIn qualifies the ruling of 172K .

nooIN asks:

— N9 NN DN Do 9o 1299 NNT D993 NDOA NN NN NN 9IRN ON)
And if you will say; according to 12X ", whoever derives benefit from
y»n during nop should receive the N5 punishment; for it is written %> %
7naon yan 908 (whoever eats y»r shall be cut off). According to y7ax ™ the
word 72X in any form refers to nX177 (as well as 79°9K); therefore the P10D of ynan 7918 23 °>

710721 should be understood to (also) mean that whoever has X177 from yan will receive
nA2.

mooIN anticipates a possible response and refutes it:

—912) %29 PPN NN )
And if you will say; it is indeed so; according to 17aR " there is a N1 20 for
deriving benefit from y»n (and not only from eating y»r); however, this cannot be, for -

— N1 1129392 NIINT N1©D 1NAN 229D NOPIN 192 NIIN INMI YT (3,0 9m IIPY 19 ON
If it is so (that there is a n75 211 for MOd2 y»un NXIT [according to X"7]), then
later when the X3 asks what difference is there between P17 and '
72N; the X713 should answer that this is the difference; according to mpm
who maintains that only (7°17% 7"v77) 22X° refers to X371 (but not 191 798n), then there is no
n1> for nX17; however according to 72X " who maintains that any form of 79°0K refers to
7X17, then there will be a N2 21’1 for 7R3 from y»n. The fact that the X713 does not offer
this ¥7°°1°2 X2°X, indicates that the X773 assumes that there is no n7> 211 for 7IRIT even
according to 172X 1. The question remains, why not!

N1B0IN answers:
— 199NN XYM 192999 HANN XYY YN NDT PNHYY 13929 99IN)

And the >'"1 answers that we can derive 928% 8% and 9580 X% from N»
Y9ORN; that just as 17980 XY refers to X317 NO°X (as we derive it from ;77°21) so too do X%

"o, (x3) nmw.
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192RN X1 7oK indicate nX17 MO°R; for the three verbs are similar (that they are preceded a
by negative prohibition [the X?7]) -

219NN NUN 192999 XY HOIN Y5 »5 HAN
However the phrase %28 %> 52 cannot be derived from Y7280 N®; for the
verbs are not similar. 19580 &7 is written in the negative (preceded by a 'X?") while 93 3
90 is written in the affirmative (and not preceded by a 'x%").% Since the verbs are
different and we cannot derive 721& 73 *> from 122Xn X7 there is no source to interpret 95 2
99 to refer to 7X37; only to 79°DK.

Summary
Only 12280 8?1 7oRN RY refer to nX17 70°K but not 921X 2.

Thinking it over

According to 1728 "1 (who derives from 19280 X2 which is written by 79°21)
that Yawn IRIT 0K AR 729K MO TR 1271 2IRN KD DK K MR »"D; does
he mean that we derive (from 779°21) that the term 77%°9X means 18177 (also), or
(that tl3’le 71m°% from 777°21 is) that we derive the 71X MMO°R from the 0K
27IKR?

% See [>X17"72 R,25 779 11°21 '0I0 and] "Ry aw "7 7102 79X, See also (°"n3731) 7% Nw a"n.
3 See 0MaR NoM (on this nvOIN).
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